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TOURISM STUDIES 
(CTS, DTS, BTS, MTM-II) 

Term-End Examination 
December, 2017 

TS-002 : TOURISM DEVELOPMENT : PRODUCTS, 
OPERATIONS AND CASE STUDIES 

Time : 3 hours 
	 Maximum Marks : 100 

Note : (i) Answer any five questions in about 600 words eadi. 

(ii) All questions carry equal marks. 

1. What do you understand by Sociology of 20 
tourism ? Discuss the five major points to be 
explored in the sociology of tourism. 

2. What is the significance of profiling tourists ? 20 
Discuss the methods adopted in profiling of 
tourists. 

3. Discuss the important points you must remember 20 
while planning the city tour. 

4. Explain the characteristics of wildlife tourists. 20 
Discuss the problems in wildlife tourism. 

5. Write short notes on any two of the following : 
(a) Taj Mahal 	 2x10=20 
(b) KaLinga - Bali Yatra 
(c) Theme Dinner 
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6. Discuss the development of Kovalam as a famous 20 
beach resort. 

7. Explain the salient features of the project "Palace 20 
aa Wheels". How was this project promoted ? 

8. Write a detailed note on Pilgrimage tourism in 20 
India. 

9. What do you understand by Highway Services ? 20 
What role does it play in the tourism industry ? 

10. What is the difference between a guide and a 20 
pathfinder ? How did Sherpa evolve into a 
pathfinder ? 
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